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a. B&4k
= 3 £ 5 = 5
Py X & | B | FHEE| X F|AIFLE | FHEE | XK OF | gig=s | T4
(cm) (%) (%) | &/m)| (%) (%) # | @0 (#0
24. 2 98 114 125 121 134 5.5 0.1 0.6
b. HIERX5A
= 3t = # = 3
HhH5 X 55 Bl A 4| BIEL | FER| X £ | oiEk | TEE | X £ | gies | Tae=
(cm) (%) (%) |@E/m)| (%) (%) &) | B0 (#0
dbL &R 18 23. 2 96 110 119 115 130 5.4 0.0 0.4
SRR 28.5 113 121 183 177 176 6.0 0.1 0.7
WWEZAFE 24.2 98 133 99 127 167 5.4 0.1 1.1
P ER T 25.6 95 112 153 116 153 57| A 0.1 0.5
=RERF 23.4 117 127 125 105 114 57 1.1 1.2
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= 3t = #5 %= #
am FE I X G| BISFLE | FHEE| X F|AIFLE | FHE | XK OF | pig=s | ETE=
(cm) (%) (%) | &/m)| (%) (%) ) | #O (#0
VD EHIFN 24. 4 100 116 126 122 134 5.6 0.2 0.6
HH =< 3 23.2 94 113 117 126 135 52 A 0.2 0.4
FHTITH 24.8 90 102 139 95 133 54 A 0.2 0.5
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